
3/17/2021 https://srtmun-admin.epariksha.net/InstituteAdmin/Reports/AllQuestions.aspx

https://srtmun-admin.epariksha.net/InstituteAdmin/Reports/AllQuestions.aspx 1/4

CG-11-2020
WINTER EXAM 2020

Subject Name : RB-10_MATHEMATICS - Metric Spaces – XII (CBCS)_V  
 

Date : 17/03/2021 Duration : 60 min.

Instruction / सचुना / :-
 

* Follow the detail instructions given on OMR Sheet
 

* ओ एम आर वर�ल सव� सचूनांचे पालन करावे.
 

Q.1

.
 A]A

B]B
C]C
D]D

Q.2

.
 A]A

B]B
C]C
D]D

Q.3

.
 A]A

B]B
C]C
D]D

Q.4 Which of the following statement is not correct ?
 A]In siscrete metric space, eveyr singletion set is onepn

B]In a usual metric space, the singleton set is noit open
C]Both ( & (
D]Neither (A) nor (B)

Q.5 In any metric space, the set F is closed if
 A]it contains all its limit points

B]Its complement is open
C]Both ( & (
D]Neither (A) nor (B)

Q.6 If R is the set of real numbers with usual metric ‘d’ and A = ]o, 1 [, then the set of all limit point of A is
 A]] a, b [

B][a, b [
C]] a, b ]
D][a, b]

Q.7 Every closed sphere is
 A]an open set

B]a closed set
C]a semi - open set
D]a semi close set

Q.8 If A is any subset of a metric space (x, , then
 A]A is a close set

B]A = A if and only if A is closed
C]both ( & (
D]Neither (A) nor (B)

Q.9  .
 A]A

B]B
C]C
D]D

Q.10 The set of integers has
 A]a unique limit point

B]finite number of limit points
C]infinite number of limit points
D]no limit point

Q.11 The arbitrary union of closed sets
 A]is a closed set

B]need not be a closed set
C]an open set
D]None of the above

Q.12

114 114 114

114 114 114

114 114 114

114 114 114

114 114 114

114 114 114

114 114 114

114 114 114

114 114 114

114 114 114

114 114 114

114 114 114



3/17/2021 https://srtmun-admin.epariksha.net/InstituteAdmin/Reports/AllQuestions.aspx

https://srtmun-admin.epariksha.net/InstituteAdmin/Reports/AllQuestions.aspx 2/4

.
 A]A

B]B
C]C
D]D

Q.13

.
 A]A

B]B
C]C
D]D

Q.14

 
A]A
B]B

C]C
D]D

Q.15 A point aEX is an adherent point of a subset A of X if every open sphere centered at ‘a’
 A]contains a point of A

B]not contains a point of A
C]is an empty set
D]None of the above

Q.16

.
 A]A

B]B
C]C
D]D

Q.17 A subspace y, of a complete metric space x, is complete if and only if y is
 A]Open set

B]Complete set
C]Closed set
D]None of the above

Q.18 “Every complete metric space is of second category” is known as
 A]Cantor’s Intersection Theorem

B]Baire’s category Theorem
C]Banach fixed point Theorem
D]None of the above

Q.19

.
 A]A

B]B
C]C
D]D

Q.20 Which of the following statement is correct ?
 A]Every convergent sequence is a cauchy sequnence.

B]Every cauchy sequence is a convergent sequence
C]Both ( and (
D]Neither (A) nor (B)

Q.21

.
 A]A

B]B
C]C
D]D
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Q.22  .
A]A
B]B

C]C
D]D

Q.23  .
 A]A

B]B
C]C
D]D

Q.24  .
 A]A

B]B
C]C
D]D

Q.25  .
 A]A

B]B
C]C
D]D

Q.26

.
 A]A

B]B
C]C
D]D

Q.27

.
 A]A

B]B
C]C
D]D

Q.28

.
 A]A

B]B
C]C
D]D

Q.29 A subset A of a metric space (x, is compact if every open coves of A admits
 A]a subcover

B]a finite subcover
C]an infinite subcover
D]None of the above

Q.30 Every compact subset F of a metric space (x, is
 A]an empty set

B]an open set
C]a closed set
D]None of the above

Q.31 Every compact subset A of a metric space is
 A]closed set

B]bounded
C]both ( and (
D]Neither (A) nor (B)

Q.32 continuous image of compact set is
 A]compact

B]continuous
C]not continuous
D]None of the above

Q.33 A metric space (x, is said to have Bolzano-Weierstrass Property if every infinite subset of x has
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A]a fixed point
B]a limit point

C]a isolated point
D]None of the above

Q.34 A metric space is sequentialey compact, if every convergent sequence has
 A]an infinite subsequence

B]a convergent subsequence
C]a subsequence
D]none of the above

Q.35

 .
 A]A

B]B
C]C
D]D

Q.36 Two disjoint set A and B are
 A]separated

B]not separated
C]either ( or (
D]Neither (A) nor (B)

Q.37

.
 A]A

B]B
C]C
D]D

Q.38 The union of two connected sets is connected if it has
 A]empty intersection

B]non-empty intersection
C]a single point
D]none of these

Q.39 Continuous image of connected set is
 A]connected

B]not connected
C]separated
D]None of the above

Q.40  .
 A]A

B]B
C]C
D]D
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